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Name (Print Clearly):                          Student Number: 


MTH132 Section 1 & 12, Quiz 7

April 20, 2009   Instructor: Dr. W. Wu 

Instructions: Answer the following questions in the space provided. There is more than adequate space provided to answer each question. The total time allowed for this quiz is 15 minutes.

1. [3 pts each]. Evaluate the integrals.  

(a) 
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(b)
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 (they are odd functions, by Symmetry)
Solution 2:   
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2. Find the derivative of 
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(a)[2 pts] Evaluate the integral (by using FTC II) and then differentiate the result
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(b)[2 pts] Using FTC part I.
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(So it is much easier to use FTC I to find the derivatives of such special functions)
(c)[bonus 2 pts]  Find 
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3. [4 pts]. Find the total area between the x-axis and the curve of
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 could be negative, so we must consider subintervals where the function does not change sign)
Solve 
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The total area = 
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4. [3pts each]. Evaluate the indefinite integrals.
(a) 
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(b) 
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_1301290536.unknown

_1301290826.unknown

_1301834783.unknown

_1301835005.unknown
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_1289049862.unknown

